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QUESTION 1

On which database structure does an update statement operate? 

A. Table 

B. User 

C. Trigger 

D. Role 

Correct Answer: A 

 

QUESTION 2

This question requires that you evaluate the underlined text to determine if it is correct. 

You have two tables. Each table has three rows. You create a SQL query that uses a cross join. The query does not
include a WHERE clause. 

Nine rows will be included in the Cartesian product of these two tables. 

Instructions: Review the underlined text. If it makes the statement correct, select "No change is needed." If the
statement is incorrect, select the answer choice that makes the statement corrector. 

A. No change is needed 

B. Zero 

C. Three 

D. Six 

Correct Answer: A 

 

QUESTION 3

You have the following SQL query 

SELECT * FROM dbo.ProAthlete WHERE Salary > 500000 

The query takes too much time to return data. 

You need to improve the performance of the query. 

Which item should you add to the Salary column? 

A. Non-null constraint 

B. Default constraint 
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C. Index 

D. Foreign key 

Correct Answer: D 

 

QUESTION 4

Which key uniquely identifies a row in a table? 

A. foreiqn 

B. primary 

C. local 

D. superkey 

Correct Answer: B 

 

QUESTION 5

You have a table named Product that contains one million rows. 

You need to search for product information in the Product table by using the product\\'s unique ID. 

What will make this type of search more efficient? 

A. A cursor 

B. A subquery 

C. A trigger 

D. An index 

Correct Answer: D 
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